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Q.No: 1 According to the New Economic Policy of 1991, Small scale industry investment limit increased to .

2622321

1991 F 7€ offes e & SrTuR, 7Y I A &) e B IR R faam mm

Rs. 50 Lakh
A

Rs. 50 Lakh

Rs. 1 Crore
B

Rs. 1 Crore

Rs. 75 Lakh
C

Rs. 75 Lakh

Rs. 5 Crore
D

Rs. 5 Crore

Correct Ans : B

Subject : Gen.knowledge

Q.No: 2 The term 'caddy' is associated with which of the following sports?
2642684

FIr v Fraffed 7 ¥ frw @a 3 9afia g2

Horse Riding
A

gSHart

Cricket
B

frpe

Tennis
C

e

Golf
D

TMew

Correct Ans : D

Subject : Gen.knowledge

Q.No: 3 Which of the following is the oldest museum in the Asia Pacific region?
2680640

Frofoied & I S ol w=id &7 7 sRfie SueTad 82

A National Museum Institute of History of Art, Conservation & Museology
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AT FAETCTT HT : B e Hrgrerd fagr

Indian Museum

B
U HogTed
National Museum
C
ATy WorgTerd
Allahabad Museum
D

gATgIaIG SIgTad
Correct Ans : B

Subject : Gen.knowledge

Q.No: 4 Which of the following is/are a/an indicator of the financial health of a country?

2681289
Fofied § 3 $H- 3 F Ry W@ &1 1 YEdas 82
GDP
A
S W SAG
PPP
B
i
FDI in a year
C
TP af § U, EY.3mE.
All (a), (b) and (c)
D

(a), (b) 3R (c) wht
Correct Ans : D

Subject : Gen.knowledge

Q.No: 5 Who has released her book ‘Miracles of Face Yoga'?

2691612
e ot gxdes 'Red oifts % AT o fam o &2
Roshni Nadar
A
A=At AR
Smriti Irani
B
wf Rt
Gita Gopinath
C
e Ty
Mansi Gulati
D

AT et
Correct Ans : D

Subject : Gen.knowledge
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Q.No: 6
2630643

A
B
C
D

In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same
sentence in Passive/Active Voice.

We have decided to open a new retail store in this city.

A new retail store has to be decided to open in this city by us.

To be opened a new retail store in this city has been decided by us.
It has been decided to open a new retail store by us in this city.

It may be decided to open a new retail store by us in this city.

Correct Ans : C

Subject : Gen. English

Q.No: 7
2637652

A
B
C
D

Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No substitution required.

A society that ignores the former for the latter stays stuck in time, but (a society which ignores the latter for) the former might well plunge down a precipice.
a society which ignored a latter for

a society which is ignored the latter for

a society which are ignoring an latter for

No improvement

Correct Ans : D

Subject : Gen. English

Q.No: 8
2665360

A
B
C
D

In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/Phrase.
Wishy washy

to clean something quickly

to have a dispute with someone

to be indecisive

to seek revenge on another person

Correct Ans : C

Subject : Gen. English

Q.No: 9
2727902

A
B
C
D

In the following question, a sentence is provided with two blanks. Choose the correct combination of words that fit into the corresponding blanks.

After using the authorised doses, the agency will the data to monitor the use of the vaccine in order assess the next quantities to be
imported.

analysing, to
analysed, with
analyses, with

analyse, to

Correct Ans : D

Subject : Gen. English

Q.No: 10
2639577

Japan's 1953 "Minamata disease" in which fish were infected was caused by an excess of which substance?

ST &t 1953 H g arelt “=tardr sl s ot gofaat deiid &, 5w uerd & ofie 8 & SRoT gen ur?

Mercury

URT

Copper

GIcl

Nickel
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fafea

Cadmium

Fsftrm

Correct Ans : A

Subject : Gen. Science

Q.No: 11  What are the fundamental processes in hand washing?

2641854
F1Y 919 B gy wfand @ 82
Use soap, wash well, rinse, and an air dryer.
A
AT FT TAT F, St @R A 9, JENT 3R TR FRR BT TANT B
Thoroughly wash and dry
B
It WRE Wi gar o
Apply soap, thoroughly wash, rinse, and then pat dry with towel.
c
TG TY, 3t oRE | Y, €N 3R fFR ferd |/ wguar w2 g,
Thoroughly wash, rinsing, and drying
D

3l e | i, T SR g
Correct Ans : A

Subject : Gen. Science

Q.No: 12 The instrument which is used for the measurement of radioactivity is:
2671033

Mfeareftfar & Ao & o fr IuwHRur &7 ITIT fahaT S 82

Mass spectrometer

A
T Weaghflex
Cyclotron
B
Wrgarg
Nuclear reactor
C
ATy fruger
G.M.counter
D

Sfen e
Correct Ans : D

Subject : Gen. Science

Q.No: 13 Which of the following is a cation?
2695145

Fofafed & ¥ $H e 4AEE 82

Chloride ion
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FARTES T
Nitrate ion
B
ATgee 3maH
Potassium ion
(o}
R s
Hydroxide ion
D

TIESIRISS
Correct Ans : C

Subject : Gen. Science

Q.No: 14 In the following question, select the related letters from the given alternatives.
2637392

6291 :21::2413:7?

e U o U U 31erY § Weftd fasen &1 T #i-
6291 :21::2413:?

14
A

14

23
B

23

22
c

22

11
D

11

Correct Ans : D

Subject : General Aptitude

Q.No: 15 The average age of a family of 6 members is 25 years. If the age of the youngest person is 5 years, then what was the average age of the family just before the

2639427 time of the birth of the youngest member?

6 UGl & TP URAR 1 37T 3y 25 ¢ 31 Af Tad B afey it omrg 5 ¢ B, o ¥ B YW & 99 ¥ 3% Ugd URGR &1 37T oy fae ot

24 years
A

24 af

30 years
B

30 o

25 years
C

25 af

20 years
D

20 9§
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Correct Ans : A

Subject : General Aptitude

Q.No: 16 From the given responses, find the missing letter in the series.

2641518
A2A, B4D, C6I, D8P, ?
fou U Reedt & @ 0ft  q@ 31eR B I B
A2A, B4D, C6I, D8P, ?
F10R
A
F10R
F10Y
B
F10Y
E10R
C
E10R
E10Y
D
E10Y

Correct Ans : D

Subject : General Aptitude

Q.No: 17 Trains A and B are running in the same direction at a speed of 84 km/hr. and 90 km/hr. respectively, while train C and D are approaching them from the opposite
2671120 jrection at a speed of 72 km/hr. and 64 km/hr. respectively. What is the difference between the relative speeds of the trains A & C the trains B & D?

T A SR B HHRI: 84 forit ufy Her ok 90 et Uiy Het @t iy & e € fomm & =@ X €, Wafh 7 C SR D HE: 72 B v Her ok 64 T vfd der B 1y I Rl Rwmait &
IP U 37 TG E1 T A 3R C qUT B 3R D I WA S P AL T 3R 872

2 km/hr.

A
2 foeft ufer der
6 km/hr.

B
6 fit wfy wer
10 km/hr.

C
10 fit wfar wer
14 km/hr.

D
14 ot wfa der

Correct Ans : A

Subject : General Aptitude

Q.No: 18 InAPQR, £P:£Q: £R=2:2:5. Aline parallel to QR is drawn which touches PQ and PR at A and
2643420 Brespectively. What is the value of #PBA—sPAB?

APQR#, £P: £Q:sR=2:2:5¢| U (@ QR & THMAII WET AT &, ST PQ d4T PR &1
FHUA: A TAT B T Fal 51 LPBA-,PAB &I Al &7 &7

A 60°
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60°
300

3ja°
Correct Ans : A
Subject : Gen. Maths

Q.No: 19 A boat takes total 10 hr. to cover 102 km in downstream and 63 km in upstream. The time spent to cover 34 km in downstream is equal to the time taken to
2672880 (over 24 km in still water. Speed of boat in upstream is how much greater than the speed of current.

T 19 YRT & 3HT 102 b, 3R yRT & vfdpa 63 . 3t gl 90 37 H $d 10 9 FT 90 At §1 URT & H 34 fF. 3t g8 77 o= & @ uwy RR wa # 24 .
B gl U B T o THT S WK B URT & Uldpd 10 B =1, YRT ) =1t § T oifies 82

4 km/hr
A
4 f@f/der
3 km/hr
B
3 fordit/der
4.5 km/hr
c
4.5 foeit/ver
5 km/hr
D
5 fordit/der

Correct Ans : B

Subject : Gen. Maths

Q.No: 20 Starting from his house one day, a student walks at the rate of 2.5 km/hr and reaches his school 6 min late. Next day, he increases his speed 1 km/hr and
2673011 [eaches the school 6 min earlier how far is the school from his house.

T T T @ 2.5 . /ger 3 9 F oue R A WG d ol § 3R S 6 e 3t & 9 ot 71 orTet R 9% oroet a1t 1 fnedt. /e weT 3 § 9k 6 e Sect uga o 31 R Y
A B gl I B2

11/5 km

11/5 .
7/4 km

7/4 ft,
8/3 km

8/3 fat.
3/2 km

3/2 &t
Correct Ans : B

Subject : Gen. Maths
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Q.No: 21 A shopkeeper sells one trouser for Rs.1840 at a gain of 15% and another for Rs.1260 at a loss of 25%. What is his total gain or loss percent?
2687851

T GHMER 15% & TIH IR 3.1840 F U Tde Joidl € 3R GIRT 25% b1 81 W 3.1260 300 & Jdl 81 ST $d 1M I1 g1 ufererd om 82

5.49% loss
A

5.49% BT

6.23% profit
B

6.23% TYH

4.87% loss
C

4.87% BT

3.21% profit
D

3.21% €Y
Correct Ans : A

Subject : Gen. Maths

Q.No: 22 frafyf 7 & H1-81 Wog MG T BT e SAERV T 82

2660107
A rsor
B EIGEI]
c aS-ug
D Wwe

Correct Ans : A

Subject : Gen. Hindi

QNo: 23 iR # O frg ey % wlt eg sgae 82

2660732
A fafean, fefaan

B e, g
c i, vt

D afen, #g

Correct Ans : B

Subject : Gen. Hindi

Q:NO: 24 ey worgfiait gRT it Y o <R 17§ Wi aren P B @S- 2

2661177
A YTaars
B Fars
c FHar
D foramar

Correct Ans : C
Subject : Gen. Hindi

QNO: 25ty & & wHMaT ORI 3R ¥ 1 e g SH-a S 2

2668368
A frraifeatys fus
B GIPERED)

C et fg

D FeadEs
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Correct Ans : D

Subject : Gen. Hindi

Q.No: 26 The terms source and filter are directly applicable to simple experiments that serve to illustrate which properties?
2751270

T $IR fpeex weg WY Wl AT TR AL BN & Sl b 701 b1 Rifid bl b1 Tl b €2

Relevance
A

LGN

Resonance
B

yfaeafy

Contribution
C

PG

Distribution
D

oo

Correct Ans : B

Subject : Speech Therapist

Q.No: 27 According to speech acoustics in the spectra of speech sounds spectral trend is said to be attributable to which of the following?
2751271

TP TN F IR A1 @l F WagH § quishHig vgiy Fufied & § fras aru g 82

The vocal-tract filter

A
gEr-1Y fiheex
Frequency intervals
B
SR ST
Properties of resonance
C
ufaeafy & qor
Sound source
D

@t dd

Correct Ans : A

Subject : Speech Therapist

Q.No: 28 The acoustic characteristics of any speech sound are determined by which of the following attributes?
2751272

foett ot aor s @ eafe fadwanell 1 Fafifea & 3 few foivar g Froffea foan smar g2

Formants
A

Configurations of the speech production process
B

YT JcTe UfohaT & BB
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Articulatory effects

PATHD YHTT

Knowledge of articulatory-to-acoustic mappings
FATHD-T- NP AHRE BT 7=

Correct Ans : B

Subject : Speech Therapist

Q.No: 29 Which theory is a characterization of the acoustic properties of the vocal tract in engineering terms?

2751273
B 1 Rigid iR wedl § geR vy & @fie ol $1 e qui 82
Source-Filter theory
A
wia-fpees Rrsia
Speech modelling theory
B
yTyor AisRiT R
Speech production theory
C
9T ITe R
Source-filler theory
D

Ha-wR19 R
Correct Ans : A

Subject : Speech Therapist

Q.No: 30 What is indicated in the figure given below?
2751279

High Front Constriction

400000 5000, 00

i fow U o B o g w22

TR e FIHIE

100000 2000, 00

A /i/-like vowel
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/3M$/ -5 TR

/u/-like vowel
B

/)-8 "R

/e/-like vowel
C

13/ - R wR

/0/-like vowel
D

/30/- ST R
Correct Ans : A

Subject : Speech Therapist

Q.No: 31 R1 raised above its neutral frequency and R2 lowered, indicate which vowel?
2751280

R1 P TP deR SMGRT T FIR IS T 3R R2 HY YT T, T DI A1 WR 7T Rl 8?2

a
A

a

e
B

e

i
@

i

o
D

o

Correct Ans : A

Subject : Speech Therapist

Q.No: 32 High Back + Lip Rounding is a type of resonance obtained for which vowel?
2751281

BT 9% + o0 IRfET 59 WR & R e /AT &1 U TR 82

A

i

o
B

o

u
C

u

e
D

e

Correct Ans : C

Subject : Speech Therapist

GET IT ON

Google Play
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Q.No: 33 Which of the following statement is false?

2751282
i@ & 3 S 91 By 3w 87
Back constriction lowers R2
A
5 FIAT IR-2 FY HH FIAT 3
Front oral constriction raises R2
B
The 3RE BT 3R-2 TG ¥
Oral constriction lowers R2
C
SRT HIAT HR-2 FY FH HAT §
Lip constriction lowers all resonances
D

g waar gt ufdeafal ® o7 Hear @

Correct Ans : C

Subject : Speech Therapist

Q.No: 34 What is the term for the scientific study of sound generation, propagation and perception?
2751283

@ fafor, TR IR Qe & ARG T &Y F1 B 82

Acoustics
A

et

Phonics
B

B

Formats
C

W=q

Bird language
D

Teft yrar
Correct Ans : A

Subject : Speech Therapist

Q.No: 35 What is reciprocal to period?

2751292
Aty BT FHH T §?
Sound
A
afy
Vibration
B
S
Oscillation
C
EEGE]

D Frequency

GET IT ON

Google Play
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g

Correct Ans : D

Subject : Speech Therapist

Q.No: 36 When the eardrums vibrate the ossicles will transmit vibrations to which part?
2751293

d B & TS B BRd & o MR b um § T Jalkd H3?

Cochlea
A
Hufad
External ear
B
el v
Inguinal canal
C
Gegor AT (ST H)
Pinna
D
wofureft

Correct Ans : A

Subject : Speech Therapist

Q.No: 37 Formants does not analyse the ranges or energy concentration of which of the following?
2751294

BRie e & ¥ feaet S a1 Suf Terar o faxawo T8t w32

Vowels
A

R

Diphthongs
B

TR W

Consonants
c

e

Apostrophe
D

quf |

Correct Ans : D

Subject : Speech Therapist

Q.No: 38 Display that provides information about formant location is called?
2751295

TBRAC WM & IR § FHSR) G B a1 VM B 41 Bel Sl 87

Electrogram

FeaE

Dendrogram

GET IT ON

Google Play
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g
Cladogram
c
TS
Spectrogram
D
wagrmm

Correct Ans : D

Subject : Speech Therapist

Q.No: 39 Which formant has the lowest frequency location?

2751296
T wife & Ted B9 ghy = ¥?
F1
A
w1
F2
B
TH 2
F3
C
TF 3
F4
D
TF 4

Correct Ans : A

Subject : Speech Therapist

Q.No: 40 Which of the following is a disability of structure?

2751305
fofafed & 3 oF & I 3t Jwanmd 32
Throat
A
et
Movement
B
LECE]
Thinking
c
HraeT
Voice
D
STarst

Correct Ans : A

Subject : Speech Therapist

Q.No: 41 Assessment is not based on which of the following principles?
2751306

e Fofoied & @ fra Rigia w sneia et 82

A Should not be modified for any client.
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et +ft umee & forg W= 16T e s =nfew)

Reliability
B

fsataar

Tailored to individual client.
c

IR TP & I

Varieties of assessment modalities.
D

TP $ dR-a8D! BT fp|
Correct Ans : A

Subject : Speech Therapist

Q.No: 42 Which of the following is the first step of assessment?
2751307

frafifEad § d S 1 qedie H1 ugdl =R 82

Share clinical findings and records.

A
A et sk Rt amgm #
Obtain client’s history.
B
TES $T 3TaeT U PR |
Evaluate structural and functional integrity.
C
TEATHS R HATES IRASdT BT G B
Examine patient, interview caretaker.
D

MM, VPR ITUTA HIA aTd B S B |

Correct Ans : B

Subject : Speech Therapist

Q.No: 43 Which of the following information is not obtained from other professionals who has seen the client?
2751315

Frofifed & @ B W@ SHeR 3 I9eRT I urd T St § iR uee @) 3@ 87

Etiology of disorder

A
R ¥ ¥R
Prognosis implications
B
I 31 e Fifgard
Treatment options and alternatives
C
IR ¥ fwe ik Ivfare
Future possible allergies to any treatment.
D

fopaft o STER & forg ufawr 5t dwnfaa wesi|
Correct Ans : D

Subject : Speech Therapist

GET IT ON

Google Play
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Q.No: 44 What is full-form of HIPPA?

2751316

fEWI(HIPPA) TaMETITT &1 Fa-BiF &1 52

Health Insurance Prognosis and Accountability Act
A

T §iH1 gafgam R saraed i

Health Insurance Portability and Accountability Act
B

TRy ST YeTeddT 3R warads! sty

Health Insurance Pliability and Accountability Act
c

warRA T 3gaT 3R StaraE st

Health Instalment Portability and Accountability Act
D

W e geroadnsiy saraed! Siftf gy

Correct Ans : B

Subject : Speech Therapist

Q.No: 45 Which of the following form is to be filled while switching between doctors?
2751317

Steedt & o Raw e wwg Fofifad & § S @ B w= g 82

Consent form

A
Heafa o
Release of client information
B
AEP ATBRI SR BT
Mutual agreement
C
SmoRft wenfa
Reliability form
D

frsraaen yox
Correct Ans : B

Subject : Speech Therapist

Q.No: 46 Analyse the following conversation and identify which of the following options is not an impact laid upon by the friend?
2751324

Michael: I've been worried about my studies just lately - I don't think I'm doing very well. Perhaps I should find out whether I could change to another subject.
What do you think?

Friend: You shouldn’t worry so much, I'm sure you’re doing fine. The first year is always pretty boring and lots of people fail essays. I've been finding it difficult to
get down to work myself but, after all, we have only just started. Anyway, don't let it get you down - there’s a good film on tonight, do you fancy going to see it?

fofafad arafan o1 fazdawo H¥ ok uga o Fofafed & @ o1 o1 fawed firg gr1 Pufa wua 7= &2
asHa: B g1 & H o uer & IR ¥ fifad § - g9 e e o5 & g oresT &) QT §| WS g udT @l 9ife 3 o & ot o fawg & sed Iehd g1 R 31 f3ER 72

o anmumt ot feiar T Bt AfRY, I 9@ 7 % oy die 1 ugen v gHRN 9gd SIS BT § SR 9gd ¥ @ ey § 3%d g
T3 G T FA & T A IR § gied & @ 3, AT sieRaR, g ot gwema 31 31
Y 1, 3 U PRI T B T - 31 Id U St e B, 9T 31U 39 S o1 ) 72

Reassurance

YT

B Encouragement
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PIC:IEE

Well-meant advice

ISt T W WS

Delusion

uq

Correct Ans : D

Subject : Speech Therapist

Q.No: 47
2751325

Analyse the conversation given below and find of which of the following options does not convey the father’s sentiments?
Michael: Well, I, uh, ... There’s been something worrying me recently ... I've been thinking about changing courses.
Father: What do you mean ‘change courses’, you've only just started - I've never heard such rubbish!

Michael: But I just can’t concentrate. I've been getting bad marks.

Father: Well, you should think it over very carefully but I don’t see the point of giving up so soon. The trouble was that everything was too easy for you at school.
Now you have to work a bit harder you don't like it and want to give up straight away. No, you should keep at it for at least a year and then see. Everybody has
setbacks, you know, you will

F2 & 7 ST 1 foxawe Y SR 9 Y 6 Fefifed 8 8 o 1 e fidr St wiael # e T8 Pl 82
oEFa: 5 B, H, 98, .. TR A GH $o RA AR R ... & UlouwH gaeH & IR § 6 a1 Ul

fodT: "UTEuIHH FEar BT F1 HAad g, Mo ondt YHd B 7 - A Hoft Oeft spar e g+ |1

ORHT: Al & 99 9 Hixd Tel R THhdl| o TR 3 5 1

e S 8, oueh) T8 9gd e | Tl AR Al G2 a1 Sed! GR AFA Bl Adars 18] foxadl 81 WA 78 20t s Wpd & 3iu w99 o 94 3 ol
3T TUH! NS AeTd BT B, 3T 3V T 76T HRa & AR ¥ SR A A1 A8 81 LT, MUl 3q HH | HH Teh TS deb 3G ALY AR bR T =nfgu|
R BT B SRIBady gt €, 3T Hd €, 3T S

You should not change your mind once you’ve made a decision.

T IR fuig A3 & 91g MU 39T 7 et gga Anet|

Once you have started something you should keep at it.

T® IR 99 Y T [ B A & af YS! 39 SR 1@ A1y

You should be able to cope with disappointment.

3TU FRTT BT [HAT FA A & g1 A1l

One should keep on going with the flow.

UqTE & WY g g1 A1

Correct Ans : D

Subject : Speech Therapist

Q.No: 48
2751326

Which of the following is not a sign for the presence of sub mucus cleft palate?

o & I B9 1 = Hid da1g 31 JURURT BT Yobd el 32

Bifid uvula

faRRrr wrferast

Forward notching of back edge of hard palate.

HOR a1g $ NS F fHAR o7 oMt F ok gora|

Translucent bluish or whitish in the middle line of soft palate.
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TRE a1g B 7% a1 § TRy e ar qibe |

Severely distorted face.

R w0 & fagpa e
Correct Ans : D

Subject : Speech Therapist

Q.No: 49  Which type of cleft is shown in the figure given below?
2751327

Bilateral cleft of lip and palate

A
Bis 3R arg 1 Ruehy wie
Unilateral cleft of lip and palate
B
gig 3R a1y ® THaRwI Bis
Cleft of hard and soft palate
C
PSR AR Gard darg F Bie
No cleft
D
IE B T

Correct Ans : C

Subject : Speech Therapist

Q.No: 50 Fusion of uvulae that was not quite completed indicates presence of which of the following?
2751328

A BT HATH S BB TR TS garr o1, Fufeiea A @ frast Sufify &t gxifar 82

Submucus cleft

A

SRMIAH Bids

Bifid uvulae
B

faRrT wrefep®r

Cleft of lip and palate
C

g ok a1g &+t §§ WK
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Cleft of hard and soft palate

PSR 3R garw arg B Bid
Correct Ans : B

Subject : Speech Therapist

Q.No: 51 How many types of major hearing losses are there?
2751337

Ul g1 fobem TBR &1 g & ?
2

9
Correct Ans : A

Subject : Speech Therapist

Q.No: 52 Difficulty in writing due to brain damage is called as?
2751338

RIS &fd & PR foRa | HI6TS HY T el ol 82

Agraphia
A
g faer
Micrographia
B
ATgPTATTRaT
Macrographic
c
EEdRIL LY
Graphix
D
ifteea

Correct Ans : A

Subject : Speech Therapist

Q.No: 53 Learning disabilities are characterised by which of the following?
2751339

W Y e iR § ¥ g fadvar 82

Aneusomy

L st

B Age
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L)

Core elements

q=1 ad

Basic structure of brain

af&Tss &Y ga "=
Correct Ans : C

Subject : Speech Therapist

Q.No: 54 Disorder resulting in a detachment from environmental surroundings almost complete withdrawal from social interaction is called as?
2751340

Tgfervia aRaw & R Riges aRumReRsT g id:fhar @ quf siera 8 Sl €, Seed 82

Grave's disease

A
9 S
Autism
B
Rsterar
Hyperactivity
c
sifer wfspaar
Down syndrome
D

TS Rigw
Correct Ans : B

Subject : Speech Therapist

Q.No: 55 Which of the following is not a domain involved in assessing a child’s language?

2751341
Fafifed & I 1 91 T® = S WIS $T B B § AMEA ST 81 82
Case history
A
et
Informal observations
B
ST Sraeid
Formal tests
C
e whamr
Tasting abilities
D

TG B &Iar

Correct Ans : D

Subject : Speech Therapist

Q.No: 56 During which period we reconsidered and reframed language in light of its communicative, linguistic, cultural, and everyday-life contexts?
2751350
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5 oafy & SRM g1 WV & TER, YIS, IRplad 3R JAswrl 1 Rt & Feuf & vom § 39 W gHfaaR 3 ok 39 R 3 Jar fear

The pragmatics revolution

A

AGRINS Hifa

The linguistic era
B

T g

The formation era
c

ST gT

The golden period
D

iy w1

Correct Ans : A

Subject : Speech Therapist

Q.No: 57 Which model is suggested in the figure given below?

2751351
VvV
Fr2 few e o & P W Atew ggmn T 82
VVTV
The Sawtooth Model
A
Wiy Aisa
The Comb Model
B
P Alsd
The Chinese Model
c
9 Aisa
The Green Model
D

A Aisa
Correct Ans : A

Subject : Speech Therapist

Q.No: 58 1In comb model what does A stand for
2751352
A

St Aisw & T o of F 82

A

A Motivation
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o
Anti-climax
B
T-Fargie
Sequential realization
c
ST W
Simultaneous instruction
D

TP 1Y IS
Correct Ans : D

Subject : Speech Therapist

Q.No: 59 Adam'’s apple is formed by which part?

2751360

TSH H1 99 Y URT F a7 32

Pharynx
A

P

Larynx
B

A

Thyroid
C

RIENES)

Parathyroid

WIUTRTS
Correct Ans : B

Subject : Speech Therapist

Q.No: 60 During which months of pregnancy, the foetus can hear mother’s voice?
2751361

myfa & 5 AT & SR, YOI A Y ST A T 82

First trimester

A
wgdt
Last trimester
B
sifer fermet
After three months
C
T 7R F g
Fifth month
D
aieai wET

Correct Ans : B

Subject : Speech Therapist
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Q.No: 61  Which of the following is not a form of infant’s preverbal communication?
2751362

a3 @ o 1 Ry $ gd-Aids TR &1 16 0 T8 82

Cooing
A
EER
Crying
B
T
Babbling
c
gedagrT
Whistling
D
et swm

Correct Ans : D

Subject : Speech Therapist

Q.No: 62 The ability to think about and talk about language is called as?
2751369

YT & §R H e 3R a1 B D1 &HAT B T BT Sl 82

Metalinguistic abilities

A
SHFTST &FTaTg
Multilinguistic abilities
B
Fgundt &rmang
Prelinguistic abilities
C
qd-UTOTE &HATY
Dialogistic abilities
D

. .
Correct Ans : A

Subject : Speech Therapist

Q.No: 63 What are two words having same semantic meaning called?
2751370

FAF Srefguf ardf ATt &) wied Y T HET Sl 82

Homonyms
A

THATH

Synonyms
B

TEATS g

Antonyms
c

e W

D Hyponyms

GET IT ON
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GET IT ON

Google Play

LIRS

Correct Ans : B

Subject : Speech Therapist

Q.No: 64 Which principle is stated below?

27s13m ‘The semantic meaning of any unit of language is determined by the semantic meanings of its parts along with the way they are put together”.
R B W1 i Sarn T 82
"TST BT ot oft TS T Rreared aref IWdH i & Wy ordf & WY-WY IR TH WY @A F RS F Feiea dar i
Principle of Compositionality.
A
T 31 Ryl
Principle of Complexity.
B
Sfeern &1 Rigial
Principle of Personalisation.
C
Fafdamwo o1 Rrgial
Principle of Conclusiveness.
D

frofasar &1 Rl
Correct Ans : A

Subject : Speech Therapist

Q.No: 65 Which branch of semantics seeks to explain how words mean, while compositional semantics focuses on the process of building up more complex meanings from

2751372 simpler ones?

sgrd B HH IR Tg THAAH BT IR B ¢ b Wt 1 o2f 71 8, Saifch TeTeTep Weardf Rt onadf & aifires Sifew eredf & fAmfor @t vfthar w e 71

Flexible semantics

A
e wreared
Lexical semantics
B
Mz Teard
Compositional semantics
C
IoTEd g
Constructive semantics
D

fraforeT wrearef

Correct Ans : B

Subject : Speech Therapist

Q.No: 66 Which of the following are words whose semantic meanings depend in a direct way on the context of use?
2751382

Frafifed & @ o 3 18 e 8 R weard arf IuaiT & Feof w @Y adF § Rk oea 72

Anaphora

SFTHRT
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Context-dependency

B
we-frafar
Indexicals
C
EReziical
Discourse
D
HHTYOT

Correct Ans : C

Subject : Speech Therapist

Q.No: 67 The piece of language which gives the anaphor its meaning is called it?
2751383

U1 BT I8 THST Ol SIS B ST 34 T 7, I SUDT BT SNl 872

Anaedcte
A

SUTE=A=H

Anaphora
B

SHATHIRT

Indexical
C

SrIHATOTRT

Antecedent
D

et

Correct Ans : D

Subject : Speech Therapist

Q.No: 68 Which of the following is not an Illocutionary act?

2751384
Ffifed & @ B9 a1 vy pa e 87
Using a certain morpheme
A
& i3 /b &1 START ST
Making a promise
B
TS greT BT
Asking a question
C
TH Y YT
Requesting an action
D

PRATS BT SAY BT
Correct Ans : A

Subject : Speech Therapist

Q.No: 69 Air particles alternately push and pull on the particles next to them, and those on the particles next to them, and so on, so that the pattern of vibration moves
2751385 ,ytward from the tuning fork like ripples in a pond. What are these moving patterns of vibration are called?
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91g BT IR
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R A S S b BN AR ITb G b HUN W 619 e § 3R Wiad §, R 38 e, qlf HUA Bl I U dreid § del Bl aRg ST B A aeR B 3R §¢ Sy

U & 3 T Rl B T HET Sl 872

Heat waves

A
Tt it T
Sound waves
B
afy ot
Frequency
c
Ry
Hertz
D
&

Correct Ans : B

Subject : Speech Therapist

Q.No: 70 Which of the following are two most important articulators?
2751395

frofafad ¥ 3 $1F 3 3 999 Tyl STRS §?

Upper Lip and Mouth
A

Fudl gis ok TF

Lower Lip and Tongue
B

et gle ok Sty

Mouth and Tongue
C

g 3R iy

Throat and Upper Lip
D

T 3R S Fie

Correct Ans : B

Subject : Speech Therapist

Q.No: 71 Through which medium is speech communication typically conveyed?
2751396

HIYUT FER AR TR b Hremm § e foba Sirem €2

Written form

A

fafea yux

Vocal communication
B

TR HOR

Nonverbal communication
C

MfR® TaR
D Telepathy
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TR

Correct Ans : B

Subject : Speech Therapist

Q.No: 72 What type of information can voices provide in forensic speaker identification?
2751397

BRRYIE o1 BT UgTH T 3T 6T GBR P THHR UM HR gabdl 82

Emotional state

A
yraTE fRufa
Expression
B
siftreafas
Communication
C
KGN
Physical state
D

Wifas srawm

Correct Ans : A

Subject : Speech Therapist

Q.No: 73 What is the name of the points at which the articulators are moving?
2751405

F fargafl &1 W 71 § S R I=R® 94 33 82

Articulatory

A
TSR At
Active articulators
B
wfhg FaTHR
Passive articulators
C
ffera saeR
Manner of articulation
D

EickaEkaknical

Correct Ans : D

Subject : Speech Therapist

Q.No: 74 Which sound is characterised by the absence of its phonation?
2751406

g @i # fadvar Iu% @l B sy 22

Voice sound

@R |

Unvoiced sound

GET IT ON
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3mare 3fea @fy
Continuant sound
c
R @y
Dental sound
D

ga @
Correct Ans : B

Subject : Speech Therapist

GET IT ON

Google Play

Q.No: 75 Which type of communication uses messages to generate meaning between at least two people in a situation that allows mutual opportunities for both speaking

2751407 5ng listening?

59 voR &1 GaR U U & 31 & 31 < a1 F T onf Ia HRA & o =N 1 IUIRT Rl § S e SR G il F g uReaRes SRt Y orgwfa e 87

Interpersonal Communication

A
TREURE HER
Presentational Communication
B
THfIHS ¥R
Intermission Communication
C
AR TR
Intercommunicative Communication
D

et
Correct Ans : A

Subject : Speech Therapist

Q.No: 76 Who provided a six-stage model on how friendships develop?
2751414

I HY fapRa gt B, 3 W S5-I Hisd fFI ugH fHar

Hagans Hageman (2005)

A
T ¥ (2005)
William Rawlins (1992)
B
faferaw e (1992)
Neimeyer Kipling (1985)
C
iR fufen (1985)
Saferstein Rackham (1993)
D

BN YHeH (1993)

Correct Ans : B

Subject : Speech Therapist

Q.No: 77 What is a code in speech therapy?
2751415

T R & 1@ s 7 8?
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A random arrangement of symbols.

A
TdiDl Bt TP ATEfBS TTRITI
A way to communicate with animals.
B
SHRI &A1Y "G B FT TH WP
A systematic arrangement of symbols used to create meanings in the mind of another person or persons.
C
il B TP qafRud aawdT e 3w ol 3 safad ar safdaat & w9 § ardf 9 & forg fpam wirm 21
A way to confuse people.
D

AR P YT FA BT Th P

Correct Ans : C

Subject : Speech Therapist

Q.No: 78 Which of the following is an example of channels through which television messages can be received?
2751416

Frofeid & ¥ B 1 I7a S A7 BT Ub ITexUl § b Wemm | ifaeH 9w U by S I 82

Nichrome wires

A
AP AR
Microwaves
B
qe a8
Radio signals
c
g Rt
Sound waves and light waves
D

Correct Ans : D

Subject : Speech Therapist

Q.No: 79 In what way can delayed speech feedback affect a speaker?
2751417

fodifea vmwor wfafear frg ke ¥ U gadT &l TuIfdd #R abdl 22

It enhances their memory retention.

A
g I Wi wfaeRo S ggren g1
It improves their ability to speak fluently.
B
g YRTYETE dier B ITHT &FTaT § GYR BT
It allows them to speak faster.
C
Tg I Aot A e B oAl Aa 31
It makes them stammer and slur.
D

g IR FHAM 3R et I W TR T B

Correct Ans : D

Subject : Speech Therapist
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Q.No: 80 In person-to-person communication, what is the channel through which messages are sent?
2751427

Sfed-Q-aafe Tur &, 98 A7a o § o Areny @ gew O o €2

Sound waves

A
@y ot
Radio waves
B
e T
Cable
C
Faa
Glass fibres
D

g F A
Correct Ans : A

Subject : Speech Therapist

Q.No: 81 Which of the following is not a nonverbal code included in the message?
2751428

e & @ o a1 9w § Wit srfsie ois el 872

Receiver’s verbal

A
Wt 1 A
Physical contact
B
WRIE Huh
Bodily movements
C
e wfafafat
Tone of voice
D

S3{TaTSl BT WX
Correct Ans : A

Subject : Speech Therapist

Q.No: 82 In which situation lack of response is considered as feedback?
2751429

T Rl & ufafran 3t ot &1 wfdfoean w1 S &2

When the source didn't expect a response.

A

wa Wi B ufafrar ot Iufig T R

When the message is not important.
B

o9 HR wew@yul A &Y |

When the receiver didn't hear the message.
C

o9 fftar 3 s =8 g

GET IT ON
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When the intended receiver did not respond.

oq 3 feftar A wrame T8 faam

Correct Ans : D

Subject : Speech Therapist

Q.No: 83 What are verbal codes?

2751430
s Hrs 71 §?
Bodily movements.
A
RS wfafaftnafi
Symbols and their grammatical arrangement.
B
TiE SR I ARG TawTI
Sounds other than words.
C
e} F AT 3= At
Clothing and other adornments.
D

PUS 3R 3T BT
Correct Ans : B

Subject : Speech Therapist

Q.No: 84 Interviews with an employer or a teacher are examples of which type of communication?
2751440

T faaar a1 e & Y WeTHR {59 PR & TIR & 36X 82

Dyadic communication

A
sifs® (sufs®) War
Non dyadic communication
B
R sifew (smrfes) TR
Public communication
c
GICEIRCaEIN
Mass communication
D

SHHAR
Correct Ans : A

Subject : Speech Therapist

Q.No: 85 Which scientists discovered small group communication in interpersonal communication?
2751441

5 Ifie! 3 URwR® TER ¥ B 9HE TR B TN B2

Marie curie & Albert eienstine, (1889)

A T SR 3red ATg-RETS, (1889)
B Nikola Tesla & Ada Lovelace (1947)

GET IT ON
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e ¢ 3R TST waew (1947)
Brilhart&Galanes (1998)
C
forereTe U Ao (1998)
Kamala Sohonie and Marie curie (1889)
D

FHar A ok A9 wgd (1889)

Correct Ans : C

Subject : Speech Therapist

Q.No: 86 Which of the following statement is false?

2751442
Ffifaa & 3 S o By 39w 82
Studying communication can improve the way you see yourself.
A
TR PT YT HIA A ST 3T MY I 3@ F TP F YR I G0 81
Studying communication can improve the way others see you.
B
TAR BT AT B A G B 3MUB! WA & P & JUR 8 Wbl g
Engaging in effective communication behaviour can improve your relationships with others.
c
U FIR TEER # Ha €1 A gERI & T1Y A0S A F R &) Fpar 2
Studying communication avoids giving space to give voice to others.
D

TR BT Y B A GO B 31T 4 F AT o 33 | = wran g1

Correct Ans : D

Subject : Speech Therapist

Q.No: 87 Which of the following is not true for public speaking?
2751450

Frafied & @ B9 91 Aol sie & 1Y 9 T 87

Stick to vital topics.

A
Tyl fawal R o R
Beware of overused topics—unless you have a novel approach.
B
sifayged fawal & Way - 99 96 % TUF U U 74T RS 7 8l
Do not demonstrate with visual resources that are banned on campus.
c
iR & uiefie Txa e & Ay vesi T 580
Select trivial topics.
D

g5 fawal &1 787 +¥)
Correct Ans : D

Subject : Speech Therapist

Q.No: 88 Which of the following is a criteria not to be considered while speaking in public?
2751451
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e T Y Sied 999 FEfifad § S S 91 AFds T8t A S 9iee?

Consider the age of the topic and audience

A

g ok et 3t 39 W fER ¥

Determine the topic’s importance to you and your audience
B

Ty 3R MU el & g fwg #1 7o Fuffa =%

Try brainstorming and surveying your audience interests.
C

I TR & Rl W HUT 3R e T 37 A B

Recognize the special challenges for ELLs in topic selection.
D

fawg ag= & Suawa & fore faRiy gHifoal &Y uga=|
Correct Ans : C

Subject : Speech Therapist

Q.No: 89 What does pathos refer to?

2751452
TG frae! wefifd wwar 82
Authority over audience
A
P R AfER
Integrity of the speaker
B
a1 BT SrEsar
Use of emotional means of persuasion
C
IFTI F HITATETS HIYAT BT STANT
Persuasion by using logical argument
D

e aF BT ITANT P AT

Correct Ans : C

Subject : Speech Therapist

Q.No: 90 Consonants are sounds produced with a constriction at some point in the vocal tract. Consonants are further divided into how many classes?
2751459

o R 7Y F et g R Igae & oy 3w @it 81 e ot o e ot & v frar mar @2

6
A

6

2
B

2

a4
C

4

9
D

9

Correct Ans : C
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Subject : Speech Therapist

Q.No: 91  Which of the following apparatus serve fundamental processes in speech?
2751460

Frofeied & ¥ B a1 SuHRur yrwor F Wfers ufharsit @ Yar HRar 82

Breathing
A

15

Digesting
B

T T

Reproduction
C

TAsaTGT

Urination
D

LRUC]

Correct Ans : A

Subject : Speech Therapist

Q.No: 92 Which of the following is a nonuniform cross-sectional area acoustical tube?
2751461

o & 9 B9 W1 te TR-TAF Hi-eguria & @fie oF 32

Oesophagus
A

SrAvuTTet

Large intestine
B

S 3ria

Vocal tract
C

qER Uy

Inguinal canal
D

FIEE TR
Correct Ans : C

Subject : Speech Therapist

Q.No: 93 The cross-sectional area in the forward portion of the tract can vary upto which range?
2751462

7Y & 3 UM § UR-srguria & forw i aw e 8 W B2

Two to 15 cc.

3 15 dad.

Four to 20 cc.

IR ¥ 20 Ht.H.

C Zero to 20 cc.
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T A 20 A

Six to 15 cc.

B ¥ 15 AL

Correct Ans : C

Subject : Speech Therapist

Q.No: 94 The ability to recognize the essential differences between speech sounds is identified as?
2751472

TS0 3t & ST AT SR Bl T B & B b9 &Y T UgaHT ST 8?2

Developmental Factors

A

fawraTes FRS

Auditory Discrimination
B

4quT AGHTT

Perceptual Deficiencies
c

YRS BT

Visual Deficiencies
D

g it
Correct Ans : B

Subject : Speech Therapist

Q.No: 95 What is Frenulum?

2751473

SfEEY T 82

The white membrane below the tongue tip
A

Sty Bt e F 1 Abg Rk

The white membrane below the tongue ties
B

Sy ¥ Y ot whg et du ot @

The red membrane above the tongue tip
C

Y B TP & FHW ard et

The red membrane above the tongue ties
D

Y & HWR B A1 el du o @

Correct Ans : A

Subject : Speech Therapist

Q.No: 96 What happens when a sound, phrase, or articulatory posture is repeated or prolonged abnormally during speaking, or when avoidance and struggle behaviour
2751474 ,ccur?

T BT § 9 ST & SR @, I a1 HeAEd 31 SR TU J GBS Wl 8 1 T I97 9% gl 8, U1 99 URER 3R T 37 FagR gl 82
A Blubbering
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faergmn

Stuttering

BPAI
Muttering

gagerr
Blabbering

Eracd
Correct Ans : B

Subject : Speech Therapist

Q.No: 97 Which of the following uses a synonym or circumlocution to avoid speaking a word upon which stuttering is anticipated?
2751475

Fofafad & I $F 91 eg dieH § T F o IHFS g 1 THigaTE Xeg BT ST Rl § o R ghar @1 Iudig 82

Importance
A

agd

Slite
B

D

Stimulating
C

FRECd

Avoidance
D

afer

Correct Ans : D

Subject : Speech Therapist

Q.No: 98 Assessing which part examines the patient's ability to match forms, letters, pictures, and words with visual symbols, and checks for comprehension of silent and
2751485 ;5| reading passages?

Tg BT AT [ BIF T YT T Y 2= Uil F 1y =, 31er, Rl SR <recl &1 e 71 &1 & Bt S vl 8, SR b 3R AP Ugt & 3= 3 G0 BT S Hell 82

Mathematical Difficulties

A
T wfemgat
Auditory Disturbances
B
yqur rerifer
Visual and Reading Difficulties
C
T 3R U 3 wfeaTSAr
Speech and Language Difficulties
D

YTYOT 3R YT B BfeArgar

Correct Ans : C

Subject : Speech Therapist
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Q.No: 99 Thrombosis is characterised by which of the following?

2751486
TR e § ¥ et faivar &2
Blood clot formed in place that does not move.
A
TE-SITE G ST USHT oI STl § Sl e a1 21
A clogging of a blood vessel by a clot that moves.
B
T AEHT BT 4T GRT 4 &1 ST 7 et 2.
A swelling or dilation of an artery due to weakening of the wall of the blood vessel.
C
I AP Bt FIR F FHAGR T & BRUT YH-1 & Yo 91 e |
An essential blood vessel break.
D

TS IRAF I qIfedT genl
Correct Ans : B

Subject : Speech Therapist

Q.No: 100 What is Agnosia?

2751487
e T 32
Inability to do simple arithmetic problems due to brain injury.
A
AT Bt Iic F HRUT ARG TG THRS B S H e
Aphasic behaviour characterized by jumbled, inarticulate jumps.
B
IR, 3RUY g St fA=uaT arer arEmaR FTER|
Inability to remember familiar words due to brain injury.
C
A& B e F RO IRRM U= B UG @A F s
Inability to interpret the meanings of sensory stimulation due to brain injury.
D

UIRTSF B T F FRUT TS IS F 3t F aren F1 A srgwdar|

Correct Ans : D

Subject : Speech Therapist

Q.No: 101 What known component is present in the solution in small quantities?
2591202

@@ (solution) T HH-TT 1T Ueh 3T AET H IURYT g 82

Liquid

A
%d (Liquid)
Solute

B
fadT (Solute)
Solvent

C

IEGINED (Solvent)
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Solid

3 (Solid)
Correct Ans : B

Subject : Pharmacist

Q.No: 102 What are the packages called that come directly in contact with formulation?
2591203

3 Up o1 HEA § S A BIHARE & Gud & 3 82

Primary and secondary package

A
urufie 3R ATeafi® 4% (Primary and secondary package)
Secondary package
B
1At 3% (Secondary package)
Primary package
(o}
wryfi® 4% (Primary package)
Tertiary package
D

i@ 3B (Tertiary package)
Correct Ans : C

Subject : Pharmacist

Q.No: 103 Identify which advanced method is used in determining the size of nanoparticles?
2591205

Fieull F SpR o FufiRa #7 § fog Saa Yy &1 I fobar S 82

Atomic force microscopy

A
TRHTY I ATSHIRBIU (Atomic force microscopy)
Ultrasound scattering

B
TS fogn (Ultrasound scattering)
Compound microscopy

C
T ATgH DI (Compound microscopy)
Molecular microscopy

D

3MuIfae AT IRBIGT (Molecular microscopy)

Correct Ans : A

Subject : Pharmacist

Q.No: 104 Which product is involved in the sterilization of plastic containers?
2591206

W & HeRI BT fIGHH (sterilization) H S I I WA 82

Ethylene oxide

3RIelq aifeaTsS

B Propylene
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e
Bleach

C
fatsi® (bleach)
Butanol

D
e

Correct Ans : A

Subject : Pharmacist

Q.No: 105 Which metal is used in the manufacturing of aerosol containers?
2591207

RN SR & i 8 59 urg &1 IudnT R s 82

Brass
A

raa

Tin
B

fe

Lead
c

ES)

Aluminium
D

gy

Correct Ans : D

Subject : Pharmacist

Q.No: 106 What is the bubble test used for?

2591208
e ¢ o forg s b S 82
Ethylene oxide
A
SRreh sifaarss
Autoclave
B
PICERE)
Blister pack
C
R i
Methylene oxide
D
AR SifISS

Correct Ans : C

Subject : Pharmacist

Q.No: 107 What is the most common sterilization process used in healthcare facilities?
2591209
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TR GRaurst # IuaT B O aTet WY ST Pler g (sterilization) UfhaT FT 82

Radiation

A
faf=or (Radiation)
Heat steam

B
o yg (Heat steam)
Dry heat

C
I Wif (Dry heat)
Phenols

D
fieiet (Phenol)

Correct Ans : C

Subject : Pharmacist

Q.No: 108 Which among the following pathogens is not destroyed by sterilization at 100-degree celsius?

2591210
FofifEd § § S a1 Mo (pathogens) 100 4 ARGTY W MM (sterilization) RT Y &Y &l 82
E. coli

A
€. BIaTs (E. coli)
Candida albicans

B
FaSteT Afd-T (Candida albicans)
Vibrio cholera

C
fafsaY BTeRT (Vibrio cholera)
Clostridium perfringens

D

Wﬁﬁﬂ'&'ﬂﬂ RitFo (Clostridium perfringens)

Correct Ans : D

Subject : Pharmacist

Q.No: 109 Which of the following best describes the disinfection process?

2591211

i & I B SreruRieE Uihar o Ia9 ST qu HRdT 82

elimination of all types of microorganisms and bacterial spores
A

Tt wHR & geAeital 3R shary) dempsit o1 I e

elimination of all forms of bacterial spores
B

Sitary) diempeit & W FUi $T I

reduction or elimination of microorganisms and bacterial spores
C

gemoitar 3R Sfrary] Fiempsit 3t wit a1 3@

reduction or elimination of many microorganisms and some bacterial spores
D

% GeAoldl 3R o sftary] e (Spores) # &t a1 I=E

Correct Ans : D
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Subject : Pharmacist

Q.No: 110 Which among these does not include disintegrant?
2591212

T @ frad fgueedRY (disintegrant) Tfiet &t 82

Conventional tablets

A
URUf¥® TRMAT (Conventional tablets)
Chewable tablets

B
I9H ARy et (Chewable tablets)
Enteric-coated tablet

C
3A-AfUd MRAT (Enteric-coated tablet)
Immediate release tablet

D

deeTal el A (Immediate release tablet)
Correct Ans : B

Subject : Pharmacist

Q.No: 111 Identify the correct option with the Wurster process associated.
2591213

Wurster UfthaT & T1y eftid T8t fadwed &1 uga &¥

Fluidized Bed Granulation

A
“a §aE gMeR a9
Dry granulation

B
g1 oI (Dry granulation)
Sieving

c
BT (Sieving)
Granulation

D

IMER ¥ $T 1™ (Granulation)

Correct Ans : A

Subject : Pharmacist

Q.No: 112 Which number denotes the smallest size of the capsule?
2591214

B G IO S b T DI PR B <l 82

o
A

o

2
B

2
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10

10
Correct Ans : C

Subject : Pharmacist

Q.No: 113 Which is the most preferred plasticizer in the manufacturing of capsules?
2591215

Fuge & Fafor & Ted wdler wifeareeRr HH-91 37

Sorbitol
A
wfdera
Povidone
B
Ui (Povidone)
Polyethylene glycol
c
LIGICIERCIFEa)
Hydroxypropyl methylcellulose.
D

T IR fruraaagars
Correct Ans : A

Subject : Pharmacist

Q.No: 114 1In which case, are the substances affected by atmospheric oxygen, moisture, or carbon dioxide?
2591232

o fRufa o yerf argrsciy sifwilsr, T a1 B SEsiaEs ¥ UHIad 81 32

Light-resistant container

A
w1 yfeRieh de R
Well-closed container
B
e §g SR
Tightly-closed container
C
TR GG BN
Cool place
D
;AU

Correct Ans : A

Subject : Pharmacist

Q.No: 115 What is the relative amount of solvent for 1000 parts to 10000 parts of solute?
2591233

o % 1000 W & 10000 HFT ¥ fo facimeres @1 Wer A (relative amount) &1 8?2

Free soluble
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o ga-=id
Soluble
B
Very soluble
C
9gd ga-=ia
Sparingly soluble
D

ERGEZ R GERIK)
Correct Ans : D

Subject : Pharmacist

Q.No: 116 In which of the following thermolabile substances are stored?
2591234

yrfaeTsd Uard (thermolabile substances) Fafiad & ¥ fras wufea fevar Siar 82

Well-closed container

A

I} e A dg hER

Tightly- closed container
B

HHB §G B

Cool place
C

EEIEIE

Light-resistant container
D

UHTR HfeRIeh HE R

Correct Ans : D

Subject : Pharmacist

Q.No: 117 Which of the terms is an alternate name for Enemas?
2591235

T (Enemas) & 1T dsfetes A &9 91 Wsg 82

Elixir

A
ufafRR (Elixir)
Suspension

B
fAdas (Suspension)
Emulsion

C
THRME (Emulsion)
Clystric

D
FATSHID (Clystric)

Correct Ans : D

Subject : Pharmacist
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Q.No: 118 Which is an example of Disodium EDTA?
2591236

feafean 18T (EDTA) o1 ISR S 41 82

Sweetening agent

A
et Q’ﬁ?.’ (Sweetening agent)
Flavouring agent

B
TIGiAT Tele (Flavouring agent)
Chelating agent

C
FafeT geie (Chelating agent)
Preservative

D

ufkRe/® (Preservative)
Correct Ans : C

Subject : Pharmacist

Q.No: 119 Identify the coolant agent among these?
2591237

9 ¥ Yfda® (coolant) Tele &1 UgaM HY?

Amaranth

MY (Amaranth)

Erythrosine

B
TR
Carotenoids

C
ERGE IS
Eosin

D
33Ny (Eosin)

Correct Ans : C

Subject : Pharmacist

Q.No: 120 What does the BCS stand for?
2591238

ey (BCS) &1 @m 3 82

Biopharmaceutical classification system

IEEERYR®e aiffHur yuiel (Biopharmaceutical classification system)

Biological classification system

Sifa® Tiferor gumelt (Biological classification system)

Binomial classification system

fgue arffevor yumeh (Binomial classification system)

D Basic classification system
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gfrand) afferor yurrelt (Basic classification system)

Correct Ans : A

Subject : Pharmacist

Q.No: 121 Identify the vitamins that are synthesized by bacteria in the intestine.
2591239

3fid o ST gRT Ywaid fyerft &t ugam a3

Vitamin A
A

faefim A

Vitamin K
B

faefim

Vitamin D
C

faeffm D

Vitamin E
D

faeftm E

Correct Ans : A

Subject : Pharmacist

Q.No: 122 Which among the following is caused by riboflavin deficiency?
2591240

Frafifed # 9 S g B HH D DR ST 82

Pellagra
A
damn
Mental deterioration
B
AHRI® fiRTae (Mental deterioration)
Cheilosis
C
R (Cheilosis)
Dermatitis
D
SAifefeT (Dermatitis)

Correct Ans : C

Subject : Pharmacist

Q.No: 123 During tuberculosis therapy, Vitamin B6 deficiency occurs with ?
2591241

qufees R (tuberculosis therapy) ¥ R faerf fi6(B6) Bt ot frae®s Ty Bt 82

Isoniazid

TSRS (Isoniazid)

Rifampicin
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fbfRe (Rifampicin)
Sulpha drugs

C
FeW®T gal¢ (Sulpha drugs)
Themibutol

D
YTfIsgEId (Themibutol)

Correct Ans : D

Subject : Pharmacist

Q.No: 124 For which of the following “Xanthurenic acid index” is a reliable criterion for the deficiency of vitamins?
2591242

e & @ feae fe “SR¥fe TRIS S98% (Xanthurenic acid index) eI @ w3 & T e fyg-ig Arcs 82

Pantothenic acid

A
e s
Thiamin
B
gt
Pyridoxal
C
LIRS CHE]
Riboflavin
D
RECISICES

Correct Ans : C

Subject : Pharmacist

Q.No: 125 For the determination of amino acids, which sequence of a protein is used?
2591243

i ot & MuRor & forg Wi & b w1 TR foa Wi 22

Ninhydrin reagent

A
feTsfe sifirdti® (Ninhydrin reagent)
Biuret reagent

B
e AfUFHHS (Biuret reagent)
Millon's reagent

C
fire &1 3ifire® (Millon's reagent)
Sanger reagent

D

IR fBH® (Sanger reagent)
Correct Ans : D

Subject : Pharmacist

Q.No: 126 What is the Cori cycle?
2591244

PR TP T 7?

A Reuse of glucose

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal2417

TEHIS BT Y: JUART

Synthesis of glucose
B

TS BT HRAYIT

Uptake of glucose
c

DI BT AaT

Reuse of glucose and synthesis of glucose
D

TGP BT Y: STGNT 3R 7D PT TLAT0T
Correct Ans : D

Subject : Pharmacist

Q.No: 127 What is Inverted sugar?
2591245

3ac YR (Inverted sugar) 1 %?

Galactose
A

HCCOE]

Mannose
B

A

Fructose
C

B

Hydrolytic product of sugar
D

At &1 FIEgIaSie® WG
Correct Ans : D

Subject : Pharmacist

Q.No: 128 By volume, what percentage of the red blood cells make up the total blood?
2591259

T & AR F I B TG 39 HURABTISA BT = Ui=1d U Bl 82

15
A

15

25
B

25

35
C

35

a5
D

45

Correct Ans : D

Subject : Pharmacist
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Q.No: 129 What are the major lymphoid organs in the body?
2591260

R & W REpISS (lymphoid) 37T H1F ¥ 82

Lymph nodes

A
i A (lymph nodes)
Peer's patch
B
HaR &1 U9 (Peyer's patch)
Malto
C
reel (Malto)
Spleen
D
witer (Spleen)

Correct Ans : D

Subject : Pharmacist

Q.No: 130 Which concept specifically defines a bacterium as the cause of a disease?
2592259

FHH A 3rguRon IRy TU F Siary] & fH F SR S 0 F gk w82

Biomedical concept

A
AR SEyRuT
Ecological concept
B
aIiRfRfe s
Psychosocial concept
C
TANTHISS SEUROT
Holistic concept
D

qUY SATYROMT
Correct Ans : A

Subject : Pharmacist

Q.No: 131 Which concept describes the harmonious balance between the healthy body and the environment?
2592260

FHH-T HFYRUN TR TRR R Tafaror & o Froragl TgeH &7 ol sl 32

Psychosocial concept

A
AT YT
Ecological concept
B
TIRFRIRS saurRom
Biomedical concept
c

IANASEHT SrauRom

D Holistic concept
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HHY TYURUMT
Correct Ans : B

Subject : Pharmacist

Q.No: 132 Which of the following are the characteristics of a mentally healthy person?
2592262

el & ¥ -3 TS FU § WX AR $ AL 82

He cannot tolerate criticism.

A
g AT TSI TG BR HpaT
He is confused in decision-making.
B
9% fofa o7 & wfi war @
He faces a problem and tries to solve it.
(o}
9% U THWT FT ATHAT FRaT 7 R IV 56 FA 3T IR/ Ha1 8
He is not able to find his identity.
D

T U UgH e 41 UT 38T §
Correct Ans : C

Subject : Pharmacist

Q.No: 133 Which of the following does not belong to the third of the three "Ps" that must be kept in mind while providing first aid?
2592263

Fofafe & T &9 W dF "Ps" & W AR ¥ Gfid et & R vnufiye fafese vem axa T @ B a1 S anee?

Preserve
A

firerd

Protect
B

W

Promote
c

wHle

Plan
D

T

Correct Ans : D

Subject : Pharmacist

Q.No: 134 Which of the following is not required in a sterile dressing instrument tray?
2592264

wrga g Sgie ¢ Fafifad & I fbuet sazaed T8l gl 82

Haemostat
A

FHe

Thumb forceps
B

C Probe
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Foods

Ted
Correct Ans : D

Subject : Pharmacist

Q.No: 135 Who is universally known as the father of microbiology?
2592265

5 ger g fox & oo & =9 F 9T SIrm 872

Leeuwenhoek
A

IS

Howard Florey
B

Fias TRt

Ernest Everett
C

e Tave

Carl Linnaeus
D

Hrd fafer

Correct Ans : A

Subject : Pharmacist

Q.No: 136 Which of the following is not a non-communicable disease?

2592266
frofifed & § o te R-Tard 7 22
Cancer
A
W
AIDS
B
g
Diabetes
C
aYdE
Chronic kidney disease
D
Pi® st A

Correct Ans : B

Subject : Pharmacist
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Q.No: 137 Patient with newly discovered diabetes queries the nurse about the necessity of daily foot inspection. What is the nurse's best course of action?

2592267

T TS T AyAE & A T F e W AR Bt savaedr $ IR 7 ggd §1 T B SRAE ST USY IH3T AT 3T 82

A To prevent leg amputation
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R ¥ frdeT &1 Ao

To check for cuts, sores, or dry, cracked skin in order to treat them quickly in order to avoid infection or gangrene
B

e a1 19 | 999 F RIT Fe, urg, a1 G, A @@ F Sig ST alfs 3BT MY IUAR fHar o 9

To check on any injuries
C

it oft e &6t e 3 st F

All you have to do is an act
D

TP T TP BT AT
Correct Ans : B

Subject : Pharmacist

Q.No: 138 What can a urine test show in an undiagnosed diabetic?
2592268

T eI Ayf & 9 T @ i Iodr 82

Glucose and ketones.

A
P MR P
Glucose and high amounts of bilirubin
B
TgHIS 3R I U | e
Ketones
C
P
Ketones and adrenaline
D

P R TR

Correct Ans : A

Subject : Pharmacist

Q.No: 139 Which part of the body does Alzheimer's disease target?
2592270

TSR AT IRR & 5 U B Afdrd Ha 22

Heart
A

'l

Liver
B

gpd

Brain
C

femm

Kidneys
D

T

Correct Ans : C

Subject : Pharmacist
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Q.No: 140 Which of the following is an example of an infectious disease?
2592271

Ffied & d BIF uP AHHD I BT IR 7

Chicken Pox
A
FH
Cancer
B
W
Osteoarthritis
c
SRRy
Cataract
D
Hiferanfig

Correct Ans : A

Subject : Pharmacist

Q.No: 141 Measles is caused by which of the following microorganisms?
2592273

TR e § @ by geroha & BRUT g 82

Virus
A
feramy
Bacteria
B
Sitarey
Protozoa
c
wIeTSam
Algae
D
RIGIG

Correct Ans : A

Subject : Pharmacist

Q.No: 142 What percentage of women does gonorrhoea affect?
2592287

MRRar fbam ufdrard wigenel B uHidd e 82

0.8%
A

0.8%

0.6%
B

0.6%

0.4%
c

0.4%

D 0.2%
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0.2%
Correct Ans : A

Subject : Pharmacist

Q.No: 143 For which disease is the ELISA test done?

2592288
uferam wteror 3 30 & o fama SaT 2
Gonorrhea
A
=R
HIV
B
LEEIEC
Syphilis
C
Juw
Malaria
D
wafar

Correct Ans : A

Subject : Pharmacist

Q.No: 144 Thiamine is commonly known as which vitamin?
2592289

YRIfeH B IHe: 69 faerfty & S0 & ST o 82

Vitamin A
A

faerfm

Vitamin B1
B

faerfim ¥

Vitamin B12
C

faerfim 12

Vitamin E
D

faefm §

Correct Ans : B

Subject : Pharmacist

Q.No: 145 An inverted red triangle symbolizes which health planning in India?
2592290

TP Il A Bl HRd & Y W e @1 Udie 87

Family Planning

gRaR e

Insurance
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T

AIDS
c

Tsa

Climate Change
D

Searyg uivad=
Correct Ans : A

Subject : Pharmacist

Q.No: 146 Which of the following is a natural method of birth control?
2592291

Frofeied & @ B a1 5= T &1 T Urpfae i 82

Basal body temperature (BBT) method

A
Jua drst TAReR (BBT) fafy
Oral Pills
B
s it
Vaginal Rings
C
o & ot
IUDs
D
ST (1UD)

Correct Ans : A

Subject : Pharmacist

Q.No: 147 Which of the following drugs is used in many birth control methods?
2592293

Fofafad & F o A <a1 &1 IUANT B o o At 7 fear o 22

Abitrexate
A
Levonorgestrel
B
Fulvestrant
C
Lorlatinib
D
wRafefe

Correct Ans : B

Subject : Pharmacist

Q.No: 148 How many total classes of antibodies are there?
2592294

et & $ad fra ol 82
A Three

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal2417

Four

Five

Correct Ans : C

Subject : Pharmacist

Q.No: 149 How are antibody molecules structured?

2592295
Tt o HH W B &2
Y-shaped structures
A
Y-3THR Bt HIGAE
I-shaped structures
B
I-3TPR P WY
T-shaped structures
C
T-3HR B} WA
K-shaped structures
D

K-3THR B TGATY
Correct Ans : A

Subject : Pharmacist

Q.No: 150 What is the name of the discipline that examines how antibodies and antigens interact in blood?
2592296

I SR BT TH 1 § O S el § & el 3R T ad  $ WRER fhar e 82

Chronology
A

Case

Serology
B

R fagm

Pathology
c

faopfa famm

Neurobiology
D

1 oftg fagm
Correct Ans : B

Subject : Pharmacist
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Q.No: 151 What are foreign antigens that enter the body from outside?
2592297

6T 9 TR & Yaw B et STet uiae @ 87

Exogenous Antigens

A
T T
Endogenous Antigens
B
ELEcROEE]
Autoantigens
c
wawfae
Native Antigens
D

X Tdhem
Correct Ans : A

Subject : Pharmacist

GET IT ON
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Q.No: 152 Which branch of medical research deals with how much medication should be given to a patient in order to get the intended pharmacological effect?

2592298

Rt ST B B O wraT 39 a1d ¥ et € b 3feda sitweia vate Ui e & forw At Y fpait gar & S =nfgwe

Phycology
A

LIECaN s

Pathology
B

rarsht

Posology
C

el

Molecular Biology

D

3nuifas st fage

Correct Ans : C

Subject : Pharmacist

Q.No: 153 Which of the following stands for the symbol Rx?

2592299
frafifed & 9 o9 o udie Rx & R 32
To take
A
o & g
Should date
B
GINiC)
How to take
C
F A

D What to take
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1 A2
Correct Ans : A

Subject : Pharmacist

Q.No: 154 Which of the following should be written on top of the prescription?
2592300

Afer=m & SW FHufafea & ¥ o forar g @fge?

Patient's name

A
TS BT A
Patient address
B
IRt &1 gar
Patient father's name
C
Ift F frar w1 A=
Sick disease
D

dfur A

Correct Ans : A

Subject : Pharmacist

Q.No: 155 What does a test that verifies a product's absence of live microorganisms look like?
2592303

et Iaume & Sifad gemohal o orufufy & gfy o= aren udter S feaar &2

Urine Testing

A
T Tdteor
Sterility Testing
B
R wfamor
Blood Testing
c
RECR L
Serum Testing
D

WY wdtemr

Correct Ans : B

Subject : Pharmacist

Q.No: 156 What is the use of chemicals to treat infection called?
2592317

TehHUl b ITAR & T WTEHT S TGN B R yd 82
Chemotherapy

PRt

Pharmacoepidemiology
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LguICANESIERICIE]
Pharmacopoeia

c
Lguicaise
Toxicology

D
faw fagm

Correct Ans : A

Subject : Pharmacist

Q.No: 157 What are the sources of insulin and thyroid extract?

2592318
TR 3R YIRS 31 & Ad & 82
Minerals
A
@ werd
Plants
B
0
Animals
C
SIECH
Microorganism
D
qeAsita

Correct Ans : C

Subject : Pharmacist

Q.No: 158 When does the level of physiological activity of specific cells or body systems increase?
2592320

Ry SRl a1 IR Yol @ IRIRS TRk $1 wR o9 ggdr 82

Depression
A

(PR

Replacement
B

BRG]

Stimulation
C

AT

Chemotherapy
D

PG

Correct Ans : C

Subject : Pharmacist

Q.No: 159 The absorbent action by charcoal, kaolin comes under which Mechanism of Drug Action?
2592321

IRBIA, BIeNf gRT v fbar shufy foban @t frg fpanfafy & sfafa st 82

A Chemical action
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https://applink.adda247.com/d/XhqWf9lSap

Addal2417

I e

Physical action

B

i foar

Action through enzymes
c

TTgH g1 e

Action through ion channels
D

3T ATa! F Hrew | fpar

Correct Ans : B

Subject : Pharmacist

Q.No: 160 Which promotes the excretion of acidic drugs?
2592322

T NG & IO B P TTaT aT 82
citrates
A
|mEge
ammonium chloride
B
ST RIRTSS
methionine
C
ARG
ascorbic acid
D

RIS 3
Correct Ans : A

Subject : Pharmacist

Q.No: 161 Which of the following encourages the parent drug's excretion?
2592323

i & ¥ B9 9d <a1 & SoH 3 Tieed Rl 82

Tartarates
A
Citrates
B
Bicarbonate
C
Ammonium chloride
D

SETaH FIRTES
Correct Ans : D

Subject : Pharmacist
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Q.No: 162 What level of creatinine clearance represents moderate renal failure?
2592324

fopufef i adieRT &1 HIF A1 TR AW TS 3 fawerar &1 ufaffia w=ar 82
120-130 ml/min

A
120-130 fireft/fre
20-50 ml/min
B
20-50 fieft/fire
less than 10 ml/min
C
10 fireft/fre A w0
70-80 ml/min
D

70-80 fircht/ e
Correct Ans : B

Subject : Pharmacist

Q.No: 163 Which of the following will not affect how substances are removed via dialysis?
2592325

e # ¥ B safeR & mem § yanrf§ & e & e  gyifdd T8t em?

Molecular weight

A
STUIAF qor
Water solubility
B
LR GERIGE)
Protein binding
C
WA g4
Disintegration time
D

faees &1 wwg

Correct Ans : D

Subject : Pharmacist

Q.No: 164 Which of the following will serve as common anaesthesia?
2592326

it & ¥ oF I Fdde $ U T S HIM?

lidocaine
A
GG
amlodipine
B
SmEST
cocaine
c
PBH

D mannitol
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e

Correct Ans : A

Subject : Pharmacist

Q.No: 165 What do local anaesthetics produce?

2592327

B PAqs 31 I B 87

amnesia, analgesia, and unconsciousness
A

Yy #t fAR, TR iR SEisht

blocking pain perception without making the person unconscious
B

afe Bt 98 fpe fmm o it ergufa a1 A

reduction of pain and anxiety while altering awareness.
C

SREGdT & gedTd Bd §U od 3R Riar & wt

a state of stupor or somnolence.
D

e ar Jeit @t fRufa
Correct Ans : B

Subject : Pharmacist

Q.No: 166 What neurotransmitter is typically released in the heart's sinoatrial node in response to an increase in blood pressure?
2592328

g § 3 F A § AR R G & Renfead e & o a1 JRieier wRY 3 S 82

Acetylcholine

A
TRiegP I
Dopamine
B
Srurarg
Epinephrine
c
TR
Glutamate
D

Tgere

Correct Ans : A

Subject : Pharmacist

Q.No: 167 Mucokinetic is a drug that does what?
2592329

RPIGIEARCS TF <al § ol 3T B 37

reduces mucus secretion in the airways

arganf & 9o ¥ |G T FH FIAT 8

increases mucus secretion in the airways.
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qrgunt & ey % WG S g 8

increases the wateriness of respiratory secretions.
C

43 |19 F U B ggTa 8

stimulates the bronchial epithelium's mucociliary activity.
D

fpaa e ot geifrad Tfafafy o Safa o @

Correct Ans : C

Subject : Pharmacist

Q.No: 168 Which of the following is not a contributing element to renal excretion?
2592332

Frofeied & 3 &1 W1 TS & IqeA H GRIEH B dTell e el 82
blood flow to the kidney

A
¢ A Yo YA
urine pH
B
o diga
blood pH
C
T dieg
disease state
D

INT 3T
Correct Ans : C

Subject : Pharmacist

Q.No: 169 Which of the following does not qualify as a drug's physicochemical component that can influence renal excretion?
2592333

frofifad & 9 S ga1 & Wies-INmEfE ges & U F 39 7 § O 9o Sae B JUIRd IR THhdT 82

Molecular size

A
MUy SR
Disintegration rate
B
fagea
pKa of the drug
C
a1 1 NPT (pKa)
Lipid solubility
D

fafrs gam=haar
Correct Ans : B

Subject : Pharmacist

Q.No: 170 Which of the following is not a need to convert drug to dosage forms?
2751750

e & 9 o1 9 SR A B QRIS w9 F T a5 o 37

A To put accurate dosage
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HEF TATE AN BT WPT 37 & frg

To protect drug from gastric juices
B

AT 3t e 9@ @ 91 & frg

To maintain the sustain release of medication
C

gars ot AR Reflsr 3 991 v & fag

To reduce the cost of the drug
D

aTs B AN &) HH B P R

Correct Ans : D

Subject : Pharmacist

Q.No: 171 Which of the following force is used in the cyclone separator used for size separation?
2751756

frofeied & 3 5 o BT TN bR fIUTSH & forT IUaNT fhu ST a1 =ihard faHTSi( Cyclone seprator) # faar Sirr 82

Gravitational force

A
TEAHYT I
Centrifugal force
B
THHT T
Centripetal force
C
AR G
Magnetic force
D

gaog g9
Correct Ans : B

Subject : Pharmacist

Q.No: 172 How much percentage of ethyl alcohol is present (in % v/v) in the 100 volumes proof spirit?
2751765

100 HMET (volume ) & 'sg e & ole srediga (ethyl alcohol) &1 foae wfa=ra (% v/v ff) lﬂT{E{ 77

41.7 %v/v
A

41.7 %v/v

30.5% v/v
B

30.5% v/v

20.4 % v/v
C

20.4 % v/v

57.1%v/v
D

57.1%v/v

Correct Ans : D

Subject : Pharmacist
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Q.No: 173 What is ‘Achlorhydria’?
2751787

'SAARETSISAT (Achlorhydria)' &1 87

A condition in which stomach does not produce hydrochrolic acid.

A
e T fRAUfY R 9e grggiaaiie (hydrochrolic) TRIS T I@Te T8l &l &
A condition in which stomach produces excess amount of hydrochrolic acid.
B
e 3 FRURY R I srafie Wi § s15s1eR® (hydrochrolic) TRYS daT wear &
A condition in which stomach produces balanced amount of hydrochrolic acid.
c
e fRfY ol 9e grggiaaiiie (hydrochrolic) TRTS t Wit 9T &1 ScTe Hear @
A condition in which stomach produces no acid.
D

T Ut fRufY R O A oitrs il ar @
Correct Ans : A

Subject : Pharmacist

Q-No: 174 Which compound of Sulphur is used in shampoos for anti-dandruff qualities?
2751796

-3 O & frw AY A TewR & by Qe b1 UGN T STl 82
Sublime Sulphur

A
IPpT HeBY
Selenium Sulphur
B
Jafraw gew
Crystalline Sulphur
C
fopvediia wewr
Precipitated Sulphur
D

AT FewR
Correct Ans : B

Subject : Pharmacist

Q.No: 175 What is an adjuvant?

2751843
TUGHD( TEgT )R 77
Supporting medium
A
D HIeAH
Vehicle
B
qred
Main medium
c

T M

D Complement
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Correct Ans : D

Subject : Pharmacist
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